Newington College

Yr 11 Mathematics Ext 1

QUESTION ONE (13 Marks)

(a)
(b)

Simplify: —6x* x2x°
Factorise (D x?—x-30
(i)  2x°-8x?
Giy) 6ax*-27°
) . 2p-5 2 3
Simpiify: = P ~— -—
p-=5p+6 p°-2p p°-3p
Solvefofx: —g-+-§-= __1_
X  5x x
If x= .rh‘ , find r.
R—r

QUESTION TWOQO (13 Marks) Start a new page

(a)

(©)

(d)

The distance from the Earth to the sun is 149 492 000 km.

Write this number is scientific notation, correct to 4 significant figures.

Express 0-73 as a fraction in lowest terms.
T r— g,

Solve the following pair of simultaneous equations:

2x+y=7
x=2y=1

Express with a rational denominator:

. 2
() G

0 OH®) %\‘%*(@*@)

@&

B2
S Ak

If x=3- /5, find the value of —2-"—, expressing your answer with a
- &

rational denominator.
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Page 1 of 2




Newington College

Yr 11 Mathematics Ext 1

Assessment 1 2006

QUESTION THREE (/0Marks) Start a new page Marks
(a) State the natural domain of each of the following functions: 2
. 1
O = f) =253
(b) Sketch each of the following, showing any intercepts with the axes, 8

asymptotes or vertices :

i) 5=—(e+1f 4,

(ii)

©

QUESTION FOUR (/4Marks) Start a new page

(a) Solve

=), 2@*‘1\3

OC —<s\%/ SR
n___x_+1
\ (ii) |8x 9] 5x~ 7) = E') - -3 3
Ty L LS )
/ e % =, - >
\3 : :
@ (1) Graph: f(x)= |x - 1| and f(x)= |2x + 1| on the same number 3
plane, showing any the point(s) of intersection . %
(i)  Use the graphs to solve [x—1|<|2x+1]. . . 2
(f:) Sketc‘hl‘the region that satisfies both the ingquaticms — 2
y<4-x" and y>x*—x. 3

Page 2 of 2

END OF PAPER




_i_, Bkl fs | 2eoly el

?4 (a ¥y 2% = —idx7 ¢ /
(b) () (x-6)re5) /
/i) 'Lx/?c lJ—L{m) /
~ s
= 2L/J¢+zq\(y 2\4) x ¢
(i@ /ar)—[Bq\ (4-x 34Y441+r2,m+fm) //0')
Cc) Ip—S - )N —_ %
(p=8)(p ) plp- 2\ pLp=3)

- II gg ) r;_\g[,g 3) - s(p»z)‘ 4 (/1 en)
i pfo 1\/.0»?\ |
= ln - ‘DP —-LP%-Q BF rC
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@)@ i-#35.18° XON

(6’) X=2015
100 ¢=273+7%
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2-x 2-(3-(5) :

4++9-65 5
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